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Abstract. This paper investigates behavior of the so-called “Greeks” that characterize the market
and assets on it in the Black-Scholes model. Discrete analogues of these quantities are introduced
for the binomial model of the market. The weak convergence of these analogues to the Greeks is
established under the condition that the number of periods tends to infinity.
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√
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����� P (n−kn
t , ma(xn), p1

n) � #',%� �� ��
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n
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{
0 � �
� q1
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1 � �
� p1
n,

q1
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P(νn < ma)→ 1− Φ(d+(x, T − t)) = Φ
(

ln(K/x)− (r + 1
2σ2)(T − t)

σ
√

T − t

)
,

n →∞.
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∣∣Y n

j
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n

)4
+
(
p1

n

)3 − (p1
n
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n
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√
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√
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=
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=
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ln(K/x)− (r + 1
2σ2)(T − t)

σ
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√
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